836

CHESS.

CHESS.

An apology is again necessary for not being
able to give a problem this month, although tht
type are supposed to be on their way, yet they
have not reached us. Ifowever, we give a few
more enigwas and the report of 2 game played in
the Berlin Chess Club :—

ENIGMAS.
No. 4. By M. B., aged 13 years,

Witk —K at KB sq.; Rat Q4th; B'satK
Kt6th,and K B 2d; Pat KRR 2d.

Brack.—K at K Ktoth; Bat K B5th; P's
at K R 6th; K Kt 4th, and K B 3d.

White to play and mate in _four moves.
No. 5. By Mr dnnet.

Wiuith—NK at his4th; Qat K 6th; Rsat K
Kt sq. and Q 5th; I"sat Q Kt 2d and Q R 3d.

Brack.—Kat QB 3#h; Qat KR3d; RatQ
Kt 8d; Bat K 6th; Psat K B5th: Q Kt 4th
and Q R 5th,

Whkite to compel Black to mate in three moves,

No. 6. DBy* * *
White—K atK Req; Qat K 2d; BatK B
6th; Keat Q 8d; Pat Q R 8d.
Brack.—IC at ¢ Kt 6th; Rat Q Kt Tth Bat
QLR 5 Keat Q Bath,

Whitc to play und mate in three moves.
CONSULTATION GAME, PLAYED IN THE BERLIX
CHESS CLUB, RY IERR MULLER AGAINST
HERR WOLF AND V. D. GOLIZ.
witk (lerr M.) BLack (The Allies.)

1. Q I two KBTI two

2. QB I'two K Kt to B 3rd
3. Q Kt to B 3rd K P one

4. QBtoKKtdth QPone

5. K P one K B to K 2nd
6. B takes Kt B takes B

7. KB Ptwo Q Kt P one

8. X Bt K 2nd QR Pone

witite (Herr M.)

prack (The Allies.)

83. Kt to Q Kt 5th (o) RtoQ 2d

34, Q Kt P one

85, I’ takes P.

36. KRto K Kt 2l
87. KRP one

38. P takes P

39. RtoQBsq

40, KRto Q Kt 2d
41, Q Rto Q B 6th

Q RPone

R tukes P

}I§ Rkl’ one P
takes QR P (

P to K R 5th ?)

R to QR 4th

K P one (g)

P takes P

9. K B to his drd
10. K Ktto X 2nd
11. Q tolier R 5th
12, Q Kt to his 5th

2. Castles,

14, K RtoQ sq (¢)
15. KKt P two
16. Q to her BB 2nd
17. B to K 4th

18. P takes K Ke P
19. Kt to K B 1th
2). Q I}(n:xkcs QB

b

23, Q Kt to his 5th
22, Bto QB 6th
25. Q to K Kt 6th
24, Kttakes Q
25. P to K 4th (%)
26. Kt to I I 4th
27. Ktto K R 6h
28, Kt takes K B (3)
20, Rt tn Q B &d
32 QR Pone())
31. B takes B (i)
2. KR lQ‘Q 2nd

QR to his 2nd

Q Kt 10 Q 2nd (a)
QR one ()

Q IR to his 3rd
Castles

K Ki P two (d)
B to K Kt 2nd

P takes KKt P
K RPoue

Q takes P

Kt to K B 3rd ()

Q R to his 2nd
QRtoQ2d
QRtoQsq

Q takes Q (g)
K RtoDB 2ud
K to his R 2nd
Kt to K sq
Kito Q B 2nd
K takes Kt
Ktto Q R3d (%)
Bto Q@ Ktad

R takes B

Rto QB eq(n)

42, KthsPatQ 4th (r) Rtakes QR P

43, Kt to K B 5th (ch) K to Kt 3d

44, KR takes Q Kt P R to Q R 5th (5)

45. Kt takesQ P Kt to Q Kt 5th

46, Q Rto Q B Sth RtoQR 2

47. R takes R Kt takes R

48. K P one RtoX 2d

49. RtoK §th R takes R

50. K¢t takesR Kt to Q B 4th

51, Ktok 2d K to Kt 4th

52, KtoR 3d Kt to K 34

53. Kt to K B 6ih Kt to K B 5th (ch)

4. KtoR2d Kt to K Kt 3d
And the game was resigned as drawn,

(e) B to Q2nd would have been abetter move.

() Pue only play to save the Rook.

() White's object was to occupy the centre of
the board with his two Rooks, but it would have
been better to play the Q R to B sq before thia
move,

(d) Black is so confined, that he can only de-
velop his game by an attack on this side.

(c) White has nothing to apprehend from this
attack, as Black’s Q IR and Q B cannot be brought
into action,

(f) With the view of exchanging Queens, and
not to win the King’s Pawn and Rook for the Kt.
by the taking K I’ next move: this would cause
him the immediate loss of the game.

{9) The best move.

(%) Black is now in a very confined position :
he must strive to prevent the advance of his ad-
versary’s centre Pawns, and most particularly
avoid exchanging both Rooks.

(7} White takes this Bishop, as, so posted, it
might become dangerous.

(4) QB to QR 3rd, would also have been a
good move.

() Better than Q Kt to R 4th, in which case
Black would have been able to break up bis cen-
tre Pawns if White took Q Kt .

(n) KB to R 4th would perhaps have been
still better, in order to biing it slterwards ivto
play at Q B 2nd.

(n) The only corrast move.

(o) If White had played Q Kt P one, Black
would have plaved K P ore. Q Kt might also
have played with advantage to Q B sq.

(p) A bad move, by which Q B occupics the
open file of the Q B 2nd.

() The oniy chance of drawing the game.

{r) KttakesI’at Q 6th would have been strong-
er, but Black might stiil have rendered the ad-
vanced P troublesome.

(s) Black, who only strives to win the White
Pawn for his Kuight, which is quite inactive,
saves the game by it. If White took the Kt he
conld not, after losing his Pawns, expect to win
with two Rooks aud a Kt against two Rooka.



